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4,732,800 *11% 521
201 er23 | 1,220 1,220
2 s5=g4l 1,220 1,220
O8&82= € MA 720
—&JIR3 60,0003 * 12 720
OAIE2EbBI= X 500
—HIESNLAE REH S =
500,000& %12 500
206 M=l 500 500
01 MZH| 500 500
OHIEQEMZAIE S He+
500,000 500
401 AlZHIZ SO 15,000 15,000
01 A28l 15,000 15,000




2A:
KEH
ool

SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O=MER 122 XS M
8,000,000& x 1A 8,000
OFaEX =2 URHI & FIE Fy|
7,000,000 14! 7,000
HIOIS2A|s & dJel(sHH/HoI28) 3,549,914 2,197,822 1,352,092
= 77,200
= 65,200
= 3,407,514
HIoI2Hel 3,549,914 2,197,822 1,352,092
= 77,200
= 65,200
= 3,407,514
HOI2HelAlE &9 3,111,034 1,533,402 1,577,632
101 Q124d| 65,668 0 65,668
4 JItHI22sES 65,668 0 65,668
OMYDII/MK I JI2EHZ2Z X 21|
78,830& *3E 252« 10& 59,160
OMAHDIKIM el JI2tM22 X U2 E
59, 160,000 *x11% 6,508
201 LEr2AH| 730,705 712,709 17,996
01 AtR2t2lbl 559,876 541,880 17,996
Ogt=ZH]| 516,600
—JI9AEDIZ2 |IEX2|
90,000& *3,500& 315,000
—HIOIENME FE2
20 *7,000kg*365 51,100
—MEDINEE AEL S SRAUMN £42
300,000& *50&] 15,000
—MADIBZH AASE ME P
4003+ 10H*13,000AMICH* 1228 62,400
—MADISEH PPOCH HIZ 2
800& *10H*1,000AMICH =122 9,600
—228 25 HZE 2(50L)
1202 %20,0000H 2,400
—MHE2E =241 PPOIH (40kg) +&!
200& *20, 00004 4,000
—MHE2E 22|+ PPOI(1E) 2
6,000& *1,0000H 6,000
=MD I ESEH & 2H=EE=2 HE
1002 %6, 0000H 600
=MD SEED| ZNE H&
50,0002 *300H 1,500
ZzHl & ANHES E8 &40 M
50,000 *200H 1,000
~EDI2&E 24 92
200,000& %103] 2,000




SN BHD
A HOISAHASH L ™l (8/HDI2)
&2l HOIEXe (CH9): &S
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—MAIIH WA HYTy gl
200,000 x105+53| 10,000
~ MBS POHE GER0R OEE
= gl 200,000 +4% 800
—MYDIE A2 ARE P2
30,000 x5E+12& 1,800
— MY DI|E LMIA FAISES
350,000 *4 I 2 *23| 2,800
—MgDIE MD|etMzte| (de2
300,000&*12& 3,600
— MR 20| 42
250,000& =12 3,000
—MYDIE fdds Y SECIHY AIERZ
100,000 =2CH 122 2,400
—SUMLE ESA
1,500,000 =13 *30H 2 4,500
— MDD MYl E ESHE A A
100,000 *27H 2= 200
— M| ZAIH02H MESHE AIEE
750,000& =123 9,000
— Mg ZAIPH0H et AXIEAHE =22
1,000,000 & *5IH 2~ 5,000
—23)| HYM Heldl 2,000,000 2,000
—SIMHEIE BRIXY HIIUA +42
50,0003 *9CH*23| 900
OSE2ZZ Xt X B AHH| 9,760
—Zol= gl OkNG}, OIMBE P
400,000 x24H 9,600
—SALTCHY| 80,0002 x22] 160
O=gt| 6,176
—MYIISI| L BAX NESHEX 24
8,000 x3Z x4A1x 113 1,056
—BY MEMD| SHT S|
8,000 x10H 54! x63 2,400
—MYDIHEE HIAZRA =4
8,000 x 108 * 144 1,120
—=H Ot EAZ2RL =4
8,000& x20H 104! 1,600
O ZZAIA NS 24|
100,000 *5H 500
Ooassg =He 30,000& *407H 1,200
ORFIDJIEE SASFHIIZ HEHHEH =
N2+ =258 20,0003 #1290 A% 123 2,880
OUEHIIZ Al 2212 AlA8 =X
2 25 230,000& =12 2,760
OHIISHEAIE ZIIZA =2
20,000,000 *12] 20,000
02 33=24H| 170,829 170,829 0




A BE
M HOISXES Y Hel(SHF/HDIS)
=@l oISl (Ete &
. = SIE]
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
OMgDIRMKHelE HIIes 36,728
—J=2e3 5, 7902350k 123 24,318
—ANERS 682 *500KWH*365! 12,410
ORFIDDIBE SAZSJRHDIZ HEHSHEY S
Al 30,0002 140+ 12 5,040
O2g9aY 28z 2,500
—=40D] 1,000,000& *13] 1,000
—HHE= 1,500,000& *13l 1,500
OL%N=2:] 1,581
—ADIE FAL HE AZH|
1,317&+40 4 *30 1,581
OAIZEHIR I 25,000
—HEZ &+ 2==tiMAIZ ZH
5,000,000& 5,000
=AY elE == AIEEI
4,000,000& »23| 8,000
~HESHEF ALBH 24
1,000,000 & *23| 2,000
—HHIZ&otE =&
2,000,000 *20H 2~ 4,000
—LELA 4| 2,000,000 *3CH 6,000
OXtete ] 99,980
—E3Z2|(2BE) 5,000,0002 *1CH 5,000
—HIOIE(15E) 3,000,000 *1CH 3,000
—MHESXE(2.58, 1.48)
1,000, 0003 *2CH 2,000
— A2 (5E) 5,000,000& *1CH 5,000
—SASMYI| =AHH(5E)
3,000,000 *1CH 3,000
—ER2UARUTE(5E)
3,000,000 *1CH 3,000
—HAXE(5E) 3,000,000 «1CH 3,000
—=2EE=4| 3,000,000 *1CH 3,000
—=24D| RFUH
1,850 %10 £ *2A| 2++300 11,100
—S2EZ2 ¥ RSY|
1,850 %10 £ *2A| 2200 7,400
—SA2MYD| I *FFHI
1,850 %10 £ *2A|2H300 11,100
—83=ze| U 7Fl
1,850 %10 £ *2A| 2200 7,400
—HEEXE S
1,850 +8 £ x2A| 2Fx 150 *2CH 8,880
—FAHRY KRB
1,850 %10 £ *2A|2H300 11,100
—E2uA 28X Y|
6,000,000 6,000




SN S8
A HOISAHASH L ™l (8/HDI2)
Cel: HIISHe EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—EA%E FFU| 10,000,000 10,000
202 Ot 4,160 2,160 2,000
01 =04l 4,160 2,160 2,000
OUEAE 24 & XISHH S & bl
20,0003 x2H 54 2,160
OMZEDIE 22t L 2SIl NEE
& Ol 20,0003 x2H+50 2,000
206 =8l 7,745 7,745
01 M=l 7,745 7,745
OUMBE 2ot 2 A=0z 79
30,0002 *1 £ 100 3,000
Olgd &+ Melds +2 4,745
—STH 3503 *20kg*365 2,555
—XSEAMUESE 3002 *20kg*365 2,190
401 AIEHIZ20HYI 1,962,756 540,788 1,421,968
01 Al&HI 1,958,400 536,400 1,422,000
QHIIZH™elAlE 3SHH Xt==Ald ZHIAL
1,210,000, 00094*153 1,210,000
OA=2t2| IHEHAIE FHSFIESTAL 2
20,000,000%*15! 20,000
OfIMHelE &HEs =Xl HAEY
3,000,000&*22] 6,000
Ot dHD|IZ2 2EHEY
60,0002 *3,500& 210,000
OUEHII=Z Xels4d
330,000& »40E* 123 158,400
OH=M Melsd 150,0002 30+ 123 54,000
OMgDIRAd el A2 QIAIA
300,000,000 14 300,000
03 AlE 2 CHYI 4,35% 4,388 A3
OQHIIZXMelANE2g 20|
1,210,000,000& *0.36% 4,35%
405 KHHE SHI 340,000 270,000 70,000
01 ML ZSEFHSHI 340,000 270,000 70,000
LBMY D] =AXIE WX
150,000,000 *1CH 150,000
O=47| uAl 170,000,000 *1CH 170,000
OMgDI=NE SEHA 7Y
5,000,000 »4CH 20,000
=& HblY =A 212,000 235,500 A23,500
= 32,200
& 47,200
i 132,600
201 LEr2 | 50,000 50,000 0
= 15,000




SN S8
3 WSS L XMel(EB/HIIS)
Cel: HIISHe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 35,000
01 AtR2t2|HI 50,000 50,000 0
OgsHll=E +=H Xl A
50,000,000 50,000
== 15,000
[Ea 35,000
202 04l 2,000 500 1,500
01 2LHoIH 2,000 500 1,500
OsZHHIE +=H & dotd2el 0l
20,0003 x2& »50 2,000
301 EtE NS 140,000 140,000 0
= 28,000
= 28,000
= 84,000
14 IIEt2 83 140,000 140,000 0
OsZHHIE =H24E
1002 1,400,000k 140,000
= 28,000
= 28,000
= 84,000
401 AIEZHIX S0 20,000 45,000 225,000
= 4,200
= 4,200
= 11,600
01 Al&HI 20,000 45,000 A25,000
OHbld SS&otd &X At
10,000, 0003 x24 20,000
= 4,200
S 4,200
= 11,600
MHeES = 136,880 190,920 A54,040
201 er2 3| 16,880 16,400 480
01 AtR2telHl 15,200 15,200 0
OMEES =HAE| RAES =8
300, 0002 «2CH* 12& 7,200
ONEES =l & =Y 25
8,000,000& 8,000
02 S5=2g4l 1,680 1,200 480
OMEESE =HIEI| &g
30,000 =20 =128 720
ONEEsE =HIED| Mz
40,0002 x2CH* 12 960
301 2= 120,000 120,000
14 JIEt2 8= 120,000 120,000




M 230
M HIISAES 2 Hel(2Z/HII2)

Cel: HIISHe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMESE 4103 112
7,000,000& 123 84,000
OMEEE +7 Z2i2 XIS
3,000,000 ~12& 36,000
MaE sulorg ExIX& 90,000 160,000 70,000
= 45,000
= 18,000
o 27,000
401 Al HIZ S OHYI 90,000 160,000 70,000
= 45,000
= 18,000
o 27,000
01 Al&H| 90,000 160,000 70,000
OMEE SUIDIY &% XA
15,000,000 *69H 2= 90,000
= 45,000
= 18,000
= 27,000
Heas(sZn)(2d/HI12) 45,847 45,427 420
LIS HHXIE 45,847 45,427 420
HOISXCIANEIISHES 45,847 45,427 420
R I1sdES 45,847 45,427 420
(UIPIETSE— 45,847 45,427 420
OHDISHRIAIL BAHIIS 242 X
458,470,000 *10/100 45,847
TN 4Lty /LeE) 80,000 0 80,000
FREAOfl & 80,000 0 80,000
gz FUTN0IAH(EZN) 80,000 0 80,000
401 AIEHIZ R HYI 80,000 0 80,000
01 Al&H| 80,000 0 80,000
OgXilis WEs 2el+=HE AX(MHde
&g) 20,000,000& * 14| 20,000
00202 WES 2el+=HE EX(MHds
&g) 20,000,000 * 14 20,000
OF=0t2 HE Zel=Hg dX(MH=
g8) 20,000,000& * 14! 20,000
Oor20I2 WES 22l+=HE &X(MHdz
&g) 20,000,000& * 14| 20,000




